ABC Rapid Prototype Lesson’s Learned

Supply Management RP (9-11 Dec 02)

1. Driver quantities are used to assign costs.  There are resource and activity drivers and inherently there is no difference between the two.  How they are used defines whether a driver is a resource or activity driver.  A resource driver is used to assign costs from resources to activities.  An activity driver is used to assign costs from activities to cost objects.

2. Discussed how to assign retirement (special VSIP) costs.  Initial thought was to assign based on where the person was sitting and which weapon system they were supporting.  Based on the VSIP rules one CBU might have the VSIP position yet an associate in another CBU might actually qualify, retire, and receive the $25K incentive.  In this situation the CBU with the VSIP position would bear the cost and not actually have someone retire.  Decided to assign the cost based on population served instead of where the space actually was because of the peculiarities of the special VSIP rules. 

3. The plan for building the Supply Management Rapid Prototype model was to capture all costs and activities but in less detail because of the 3 day time constraint.   Would try to have no more than 3 activities under each folder in the activity module.  If there were time at the end they would go back and add more detail.

4. One of the things you can build with information from the ABC model is an “S” curve.  The “S” curve will tell you what things really cost (based on ABC model) versus what you thought they might cost (based on information from the traditional financial accounting system).  To build the “S” curve you start with a horizontal line (X-axis) which represents the standard cost currently being used.  You then plot the costs from the ABC model.  Costs above the X axis or horizontal line represent things that cost more than the standard (based on ABC model).  Costs below the horizontal represent costs that are less than the standard.  For Supply Management the standard was the current weapon system surcharge.   Costs by weapon system from the ABC model were converted to weapon system surcharge rates and plotted against the current surcharge to determine which systems cost more and which cost less than the current surcharge.

                                                                                  

5. A system support contractor is used to develop supply studies to help item managers do their jobs.  These costs were going to be assigned based on the number of National Stock Numbers (NSN’s) each group was responsible for.  The following questions were asked to determine if this was the right driver:

a. Is the cost for a supply study equal for each NSN?  In other words is the cost the same for an engine or a roadwheel?

b. Do only certain NSN’s get supply studies or all NSN’s?

Purpose of the questions was to determine if quantity, volume, or complexity would impact the assignment.  Determined that the number of NSN’s was a good driver in this case.

6. There was a side conversation about including the cost of such things as military salaries and AMC paid interns in the ABC model.  Normally an organization doesn’t pay for either of these so why include them in the ABC model?  Key point here is that if the military or AMC interns were lost then the organization might have to actually pay someone to get the work done.  Not including “their cost” in the ABC model (even if the organization doesn’t pay for them) may have consequences later if you had to pay for the work to be done.

7. Made a decision to assign the costs for the MegaCenter computer bill based on the number of requisitions instead of the dollar value of transactions.  It was determined that the cost per transaction was constant and not dependent on the dollar value of the transaction.

8. In the Resource module there was an account “Supply Depot Operations” that had a de-obligation associated with it.  Stu (facilitator) mentioned that they were going to do something that was possible with an ABC model—deviate from the financial accounting system.  Represented this in the ABC model by showing the net cost of $26M in the Activity module and then in the cost elements showed the actual cost of $33M and the de-obligation of $7M as a negative cost.  This gave the CBO visibility into what the actual bill was so in future years they could explain any cost increases from the actual bill not the net bill.

9. OROS ABC software modeling tip.  Question was asked if you could save FY02 version of the ABC model created and then start a new FY03 ABC model.  One approach is to make a back up of the FY02 ABC model.  Then working with the original ABC model open “another period” (e.g. FY03).  This creates another column in the ABC model that can be used to enter a new period’s worth of data.  The old structure is still intact which is an advantage to this approach.  For Excel users this is analogous to adding separate worksheets in an Excel workbook.  You can keep adding periods in successive years, which allows you to do comparative analysis.  You can continue to make back-ups of these at any point in time.  One caution is if you delete part of the ABC model structure in an ABC model that has multiple periods it deletes it not only in the period you’re working on but also for all periods.  To get around this put a zero for an activity or resource you don’t want to use anymore.  You can add structure in the ABC model at any point without any consequences.

10. Note capability in OROS ABC software.  A model note is good for all periods (see number 9 above about multiple periods in an ABC model) in an ABC model.  A period note only shows up in the period it was entered (e.g. FY02).  Notes are a good way to document where source data that feeds into the ABC model came from.

11. Import/export technique with OROS ABC software.  You can actually copy from the ABC model to an Excel spreadsheet.  It’s just copy and paste.  You can then work on the spreadsheet and then import it back into your ABC model.  This is useful for such things as editing your ABC model where it’s easier to use Excel versus the OROS software.  

12. OROS software information.  When you “calculate” the OROS model you usually get a lot of warning messages that you can usually ignore.  Among the things you get a warning message for is if you have “zeros” for driver quantities.  You may also get error messages when calculating the model.  When you get an error message the calculation stops at the point where the error occurred.  You need to find the error before moving on.
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